K0472
&X1e 72 HYE 2H2l2 |~ A8 ﬁ‘l‘

&5 89/HMF ololx|

ZL

THE!:

AHQIEIA AR ME =X 1.4308.

AlZICE LIAF 1ISO 4762 2 €7 L{E SO 4032, AE|QIE|A AR
@ 30mm O|&te| &ZF L}AFISO 4017, AHIQIZ[A AE]L

HH.
EZ0] 30mm L 40mmel FE HUE = SZF LIALS| LIAME 2
I &40 2RE ES5tE AZIEA LA =07 & LICE.

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



K0472

(
o] E L= A A AEI
&l At K2 FHYE| AH|Ql2|A AE
L1
® A
A /_
T =L ™~ E
L/ & | {
o, ﬁ,kiwfﬁ,,%ﬂ - | —-—i—- - '
| \\ —1 ' ;
C C
L L
R R )
: |
—— ‘\\ . : /—\y\ll‘\l
w -B- 1. -—%—- -/{—-—l-— w —+ % - -—%—-— |
L | i ‘,/t i N i J
l/ B 3
8 T
ES Y
&lX R 2 7{4E AH|Ql2|A A8
FEHS EQd A B @ D E L P Q R S T
K0472.11212 A 12,1 12,1 20 25,5 25,5 64 23 23 49 M6x18 M6x18
K0472.11414 A 14,1 14,1 20 25,5 25,5 64 23 23 49 M6x18 M6x18
K0472.11616 A 16,1 16,1 20 25,5 25,5 64 23 23 49 M6x18 M6x18
K0472.11818 A 18,1 18,1 20 25,5 25,5 64 23 23 49 M6x18 M6x18
K0472.12020 A 20,1 20,1 21 255 25,5 64 23 23 49 M6x18 M6x18
K0472.13030 B 30,1 30,1 33 324 324 92 455 45.5 73,5 M8x30 M8x30
K0472.14040 B 40,17 40,17 42 404 40,4 118 52 52 95,5 M10x35 M10x35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 2/2



